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QUESTION 1

How do you migrate LUNs under volumes from 32-bit to 64-bit?
A. lrep

B. ndmpcopy

C. rsync

D. snapvault

Correct Answer: B

http://wafl.co.uk/ndmpcopy/

Think of ndmpcopy as a sort of ftp for SAN. You can use it to copy files from one volume to another. Because the file is
read from one volume and written to another, the constraints of volume types are not an issue.

QUESTION 2

Which changes the NDMP password on the Open System SnapVault agent?
A. password

B. password

C. svpasswd

D. svpassword

Correct Answer: D

https://kb.netapp.com/support/index?

Page=contentandid=2010134andactp=LIST_RECENTandviewlocale=en_USandsearchid=1296570465177 The
svpassword command is available on the OSSV host as part of the agent binaries in the path \netapp\snapvault\bin.

QUESTION 3

What happens when two aggregates are rejoined?

A. Itis not possible to rejoin aggregates.

B. Data ONTAP will always retain data from the newest aggregate.

C. Both aggregates revert to the last common snapshot before the split.

D. You will have a large new aggregate containing all volumes from both aggregates.

E. One of the aggregates will be overwritten and you will lose any data changed on it after the split.
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Correct Answer: E
When you rejoin split aggregates, Data ONTAP mirrors the data from one aggregate to the other and destroys data that

existed on that aggregate before the rejoin. https://library.netapp.com/ecmdocs/ECMP1196991/html/GUID-
B9CB3DABE1AF-4BAC-A85B- 64C009010F4A. .html

QUESTION 4

Which set of commands should be used for troubleshooting Ethernet connectivity problems from the storage system
console?

A. ifstat, netdiag

B. perfstat, tracert

C. sysconfig - cr, sysstat

D. dish shm_stats, sysstat

Correct Answer: A

https://library.netapp.com/ecmdocs/ECMP1196890/html/manl/na_ifstat.1.html http://backdrift.org/man/

netapp/manl/na_netdiag.1.html ifstat - display device-level statistics for network interfaces netdiag - perform network
diagnostics

QUESTION 5

Which command displays the statistics for Ethernet network interfaces?
A. ifconfig

B. ifstat

C. sysconfig

D. sysstat

Correct Answer: B

https://library.netapp.com/ecmdocs/ECMP1196890/html/manl/na_ifstat.1.html ifstat - display device-level statistics for
network interfaces
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